Galllis

Date from to AF3Y b =| 2
11/4 12:00 EFHM
13:00 16:00 kL—=2%
7K) 15:30 16:30 SAt R -arka—)L
16:30 17:00 EB.SAX—XI—FT425
Date to AF3Y b =| 2
11:00 EFHM
11/5 11:30 12:50 K@/ rL—=25
() 12:30 12:40 TR -Z—FT4Y
13:00 BFx)—k F—L-/N\—> 2—M4 km) TiE
BFI—*k F—L- ATYUEE) FiE
K/ FL—=24
14:30 BFx)—k F—L-/N\—>2—M4 km) 3-4ARLIRE B
ZFI)—k F—L- 18— 2—M4 km) BALNSATIL
BFx)—k F—L-/N\—>2—M4 km) 1-243 iR E B
BFxxy—+k F—LI- AT M3E) 3-4ARLIRE B
ZFI—hk F—LI- AT M3E) 1-24i iR E B
BFxxy—+k F—LI- AT M3E) 1-24i iR E B
ZFIT—fF F—L/N—2—N4 km) FE
BFIT—F F—L /=22 —NN4 km) FEzt
ZFT—k F—L4 - X T2 2/E) FEzt
BFET—F F—L4 X T2 N3/E) FEzt
RE8
15:50 ZFI—hk IYR—3> R
BFxIy—+k IYR—3> R
ZFILY—F TYIsg—>3> FE
FFTU—F TYIsg—>3> FE
16:00 SA4to R avkao—)L



Jita
別紙　1�


Date to  H7IY #ER 21
8:00 EFFHM
11/6 8:30  9:50 HE/L—=2Y
(&) 9:30  9:40 TLR-Z=F4vY
10:00 BFIY—t ATYk (200 M FTT)
ZFI)—bk AUk FiE(200 M FTT)
8FT)—h AUk 17161 5%
ZFI—t FL=T L I R95v7F(7.5km)
BFIU—+ ATk 1/8R M
12:30 @
12:30 ZFTY—h FL=F L I TR L—Z(7.5km)
13:30 KE/FL—=25
13:30 B8FIU—t ATk 1/43R (5 1 [E1ER)
LFIT—hk b Nl JIN m TYsx—3i3>v
B8FIU—t ATk 1/4R (S 2 E)
BFTI—+ RYZF (15 km) R
14:45 B¥T')—+ ATk /4R (S 3EER)
14:45 ZFTY—h FL=F L IV RAhL—2Z (20km)
LFT—h 2Tk 1/2:R (551 [E18R)
BFIy—h 2Tk 1/2:R (551 [E18R)
ZFILY—F FL=FL Fga
ZFI)—h ATk 1/2:R (521 ER)
B8FIU—t ATk 1/2:R (521 ER)
FFITY—F ROZyF (15 km) Fgzt
ZFI)—h ATk 1/2 R (53 ER)
B8FIU—t ATk 1/2 RS 3[EER)
A2B8—\)L
ZFTU—h 2Tk -4 R R 1 E )
FFTU—H 2Tk -4 R R 1 E )
ZFTU—h ATk -2 R EH(E 1 EE)
FFTU—t 2Tk -2 R EH(E 1 EE)
A2B8—\)L
ZFTU—h 2Tk -4 R R 2E )
BFT)—+ ATk 3-46LIR TE (55 2 [EE)
ZFTY—h ATk -2 R R B (2 E D)
BFIY—t ATk -2 R R B (2 E D)
BFT)—+ T4 (40km) R
ZFI)—hk UM 3-4fL IR TE (55 3[EE)
BFT)—+ UM 3-46L IR TE (55 3[EE)
ZFTU—h ATk 1-2{i R EB(EIEE)
FFTU—t ATk 1-2{i R EB(EIEE)
XFIY—F XFYf FE
FEFITY—F XTYZH Fg
18:15 ZFIU—F YT/ xE
17:45  18:15 SA+E2R-avka—)L




Date from to AF3Y i =] BB
8:00 EFHM
11/7 8:30 9:50 KeE/rL—=25
() 9:30 9:40 TLR-Z—F40%5
10:00 BFx)—k L) 1A B
BRIy—k FL=F L I 295y F(10km)
BxIy—k A B EIE
ZFI—k Z959F (10 km) R
BRTy—k A 1/ 218
BRTy—k FL=TF L I FUR-L—R(10km)
ZFIY—F ROZyF (10 km) FE
13:15 KE/FL—=24
13:15 BFI—*k A T-12{ R E B
ZFI—h L) R
BFx)—*k A R
ZFI—k T T4V (20km) R
BFx)—k FL=T L m TYsx—3v
XFIY—F /s FE=
BFTl—+ e/ FEzt
14:40 ZFIT!1/—F TV FE=
14:40 INSHAL9)5 500mA A Lk A7 L (WC2,3) R
INSHAHO)T 1TkmA A Lsb5 47 )L (MC2,3,4,5MB) R
INSHLOY T 500m&+1 LRS54 FIL(WC23) ZF &=
INGHLOYZ T TkmBZALFS1 T/ (MC2.3,4,5MB) FE
BFx)—*k FLZT L IV R4 hL—Z (25km)
16:10 ZFTU—F FL=ZTA FE =l
15:40 16:10 SA4t X avkao—)L




Date from to HFIV &R 20
8:00 EFEM
11/8 8:30 9:50 KeE/rL—=25
(2) 9:30 9:40 TLR-Z—F42Y
10:00 ZFI—h 3 kmEAN/ A= a—b FiE
BFT)—k 4 kmfB AN/ X\—22—k FiE
ZFI—Fh 500 m 24 LS54T IL R
BFx)—*k 1km BALLSATIL RS
XFI—h 3 kmfE AN/ A= a—b 3-4fi R FE Bk
BFT)—Hk 4 kmfA AN/ X\—22—h 3-4ARLIRE B
XFI—h 3 kmfA AN/ A= a—b 1-2(L R EEL
BFT)—Hk 4 kmfA AN/ X\—22—h 1-24 iR TE B
ZFTY—, 500 m ZLLFSTFIL Fgzt
ZFTY—F 1km BLLFSLTFIL Fg=t
ZFITY—F 3 kmfBA /¥ —22—F &t
BET—, 4 kmfEA /¥ —= 2 —fF FE
13:00 KE/FL—=2Y
13:00 NGYHA9)YT 3 kmfB A/ S—> 21—k (WC2,3-MC2,3) R
NGYHA9)YT 4 kmfB A/ S—> 21—k (MC4,5-MB) R
ZFI)—t RA2k-L—2R (20 km) RRE
BFT)—+ RA2k-L—2Z (30 km) RAE
INSHAOY2T 3 kmfAN—Sa—F(WC23-MC23) FZa
INSHLOY2 T 4 kmfBA s ¥—=2—F (MC4,5-MB) FE
FFTY—F KA f-L—2X (30 km) Fg=t
15:30 ZFIY—F KL, L—X (20 km) FE=t
15:30 SHB-RE KT




